Name: KLEY

Starbucks Pricing

Background:

Starbucks is seeking to introduce the “Trenta” - their 300z size of any beverage.

As they are deciding on prices, two executives are arguing over which should be more expensive -- the Caffe
Misto or the Full-Leaf Brewed Tea.

Task:

Recommend a price for the Caffe Misto Trenta and for the Full-Leaf Brewed Tea Trenta.
Support your solution using sound mathematical reasoning.

With your group, come up with initial estimates for the prices. Write them below.

Caffe Misto Trenta (30 oz.) estimated price: ’ 3.30
&
Full-Leaf Brewed Tea Trenta (30 oz.) estimated price: 275

Resources:

Starbucks currently offers the following sizes:
*Tall = 120z

*Grande = 16 oz

*Venti =20 oz
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Demonstrate adequate mathematical reasoning to support your
recommendation. lced Coffee & Tea
. lced Coffes 235 270 325
ivi Ty oY lced Coffee with Milk 235 270 335
Individual Accountability: Any member of the group should Shaken Iced Tazo: Tea 225 285 268

be able to explain the logic behind any of the conclusions that e e Ry
the group has made.

Brainstorm: What could you do to help you start to solve this problem? Write down any ideas your
group comes up with.,



Part 1: Plot points and Label Axes
Extension #1

1. Do you see any patterns? If so, what do you see?
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2. How does plotting points help you to determine the prices for the new drink size?

3. Predict a reasonable price for a venti sized Café Misto and a venti sized Full-Leaf Brewed Tea.
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4. At what size do you think that the Tea and the Caffe Misto should have the same price?
Back up your argument using sound mathematical reasoning.
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8 240 = ob7(10)+e

Part 2: Writing an Equation 8 250 2 17 + 43
Extension #2
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1. Write an equation for the Café Misto. 8 m = Z-Fo "

(1a, 2.%5) (1, 2.f0) & -/2

[ oren ] w me 25 ops t Y
2. Write an equation for the Full-Leaf Brewed Tea.
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3. What do the slope and y-intercept represent in each situation‘{?
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4, What does rate of change mean in the context of this problem?
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5. Use your equations to predict the prices of new “Trenta” sized variations of the two drinks. Show

mathematical reasoning,.
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6. Do your predictions agree with the graph you generated, if we followed the pattern? Explain.
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